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6818 655 | —F#k 189-465 |UPM/3t=A—n"=/ILT 199 A4 5004K x 10 2618 = 2878 - = 2,848 (2~4) - = 2,748 (5~9) - = 2,648 (10~)
681H 655 aE— Rk 189-466 |UPM/at’—A—n"—/ LT 1y9 A3 5004 X 5 3048 = 3268 - = 3203 (2~4) - = 3,188 (5~9) - = 3,178 (10~)
6818 655 | —F#k 189-468 |UPM/at'—A—n"—/ LT 194 B5 5004 x 10} 2248 = 2573 - = 2437 (2~4) - = 2,428 (5~9) - = 2,418 (10~)
681H 655 aE— Rk 189-467 |UPM/at’—A—n"—/ LT 1y B4 500%% X 5 2248 = 2573 - = 2437 (2~4) - = 2,428 (5~9) - = 2,418 (10~)
6818 656 | O —F#K 682-652 |Forestway/at'—A"—n'—EX A4 5004% x 5t 1,698 = 1748 - = - - = - - = -
681H 656 OE—F#R 677-100 |Forestway/Jt'—A'—/N"—EX A4 500%% % 10/ 2,868 = 2928 2838 (2~) = 2,898 (2~4) - = 2,828 (5~9) - = 2,728 (10~)
6818 656 | —F#K 677-103 |Forestway/Jt'—A'—'—EX A3 50041 X 5 3258 = 3318 3193 (2~) = 3253 (2~4) - = 3,198 (5~9) - = 3,153 (10~)
681H 656 OE—F#R 677-110 |Forestway/Jt'—A’—n"—EX B5 5004 % 10 2563 = 2598 2427 (2~) = 2462 (2~4) - = 2418 (5~9) - = 2,362 (10~)
6818 656 | —F#K 677-107 |Forestway/Jt’—A’—n"—EX B4 5004 % 5 2563 = 2598 2427 (2~) = 2462 (2~4) - = 2418 (5~9) - = 2,362 (10~)
6818 656 |2 — R 677-098 |Forestway/at'—A"=/\"—EX A4 5004K 341 = 354 - = = - = = - = =
6818 656 O — R 677-101 |Forestway/at’—A’—\'—EX A3 500#K 824 = 844 - = - - = - - = -
6818 656 |2 — K 677-104 |Forestway/at'—A"=/\"—EX B5 5004K 307 = 315 - = = - = = - = =
6818 656 O — R 677-108 |Forestway/at’—A’—\'—EX B4 5004% 604 = 619 - = - - = - - = -
6818 656 O — R 677-099 |Forestway/at'—A"=/\'—EX A4 500#% x 3fft 923 = 1,050 - = = - = = - = =
6818 656 O — R 677-102 |Forestway/at'—A"—n'—EX A3 5004% x 2 1579 = 1619 - = - - = - - = -
6818 656 O — R 677-105 |Forestway/at'—A"=/\'—EX B5 5004% x 3ffft 856 = 871 - = = - = = - = =
6818 656 |JE— K 677-109 |Forestway/at'—A’—/N'—EX B4 50045 % 24 1142 = 1172 - = - - = - - = -
5A1H 661|0E—F#k 620-682 |G)173/KBOAR (3t F#K)64g A4 50042/KB-39N 568 = 565 - = - - = - - = -
681H 6610 —F#k 620-680 |G)193/KBOAFRRH(F FA#K)64g A3 50042/KB-38N 1138 = 1155 - = - - = - - = -
5A1H 661|0E—F#k 597-825 |G)193/OA F#f B5 500%/KB-35N 506 = 451 - = - - = - - = -
581H 6610 —F#k 620-686 |G)13/KBOARR (3 FA#K)64g B4 500%¢/KB-34N 922 = 861 - = - - = - - = -
5A1H 661|0E—F#K 597-816 |G)193/OAL F#K A5 50042/KB-30N 488 = 425 - = - - = - - = -
581H 6613 —F#R 620-683 |G)1Y3/KBOARRHR(ZE FA#K)64g A4 500%*51f/KB-39N 2756 = 2730 - = - - = - - = -
681H 6610 —F#k 620-681 |G)1Y3/KBOARRHR(ZE FA#)64g A3 5004*3fft/KB-38N 3346 @ 3378 - = - - = - - = -
5A1H 6613 —F#R 620-688 |G)193/OAX Fff B5 5004k 5fft/KB-35N 2233 = 2098 - = - - = - - = -
5A1H 6610 —F#k 620-687 |G)1Y3/KBOARRHR( FA#K)64g B4 50080+5H/KB-34N 4520 = 4191 - = - - = - - = -
5A1H 6613 —F#R 620-684 |G)13/0A FAfR A5 500%% 10fft/KB-30N 4266 = 4,055 - = - - = - - = -
5818 661 |2 —FR#K 586-736 |193S&T/KBFA#K(3L FA#K) A4 5004 /KB-29 1,091 = 1,008 - = - - = - - = -
5A1H 661 |0 —F#K 586-739 |1/3S&T/KBFAKK(ZLFHK) A3 5004 /KB-28 2272 = 2120 - = - - = - - = -
5818 661 |2 —FR#K 586-735 |193S&T/KBF#K(3t FA#K) B5 5004/KB-25 860 = 800 - = - - = - - = -
5818 6610 —F#k 586-738 |1/3S&T/KBFA#(3t FA#K) B4 500#/KB-24 1,709 = 1,588 - = - - = - - = -
5A1H 661/ —F#R 586-741 |193/KBF#R(GE FAHK) A4 500%% X 5f/KB-29 5190 = 4798 - = - - = - - = -
5818 6610 —F#k 586-740 |193S&T/KBFA#(3 FA#K) B5 500K x 5fft/KB-25 4083 = 3776 - = - - = - - = -
5A1H 661\ —F#R 586-742 |193/KBF#R(FLFAHK) B4 500%% X 5t /KB-24 8110 =@ 7505 - = - - = - - = -
5818 6610 —F#k 634-370 |193/KB ARG AMK)K7MME A A4 50048/ KB-KW39 691 = 645 - = - - = - - = -
5A1H 661\ —F#R 634-372 |193/KBRAKK(GE KR/ M4 HK A3 5004%/KB-KW38 1401 = 1315 - = - - = - - = -
5A1H 661|aE—F#k 634-369 |193/KBA#K(FLFA#K) B5 5004%/KB-KW35 539 = 510 - = - - = - - = -
5A1H 661/ —F#R 634-371 |193/KB ARG RHT7/MEA#K B4 50048/ KB-KW34 1010 = 940 - = - - = - - = -
5A1H 661/ —F#k 634-368 |193/KB ARG RHTIMMELELR A5 5004/KB-KW30 471 = 440 - = - - = - - = -
5A1H 661/ —F#R 634-376 |193/KBFRAAK(F FAK)R74 MR AR A4 50048*5ff/KB-KW39 3351 @ 3120 - = - - = - - = -
5A1H 661|aE—F#k 634-378 |193/KB ARG RHTI/ME AR A3 50045+3ft/KB-KW38 4130 = 3,860 - = - - = - - = -
5A1H 661/ —F#R 634-375 |193/KB F#R(FL F#K) B5 5004% x 5t /KB-KW35 2512 2 2360 - = - - = - - = -
5A1H 661|aE—F#k 634-377 |193/KB ARG RH)KRT/ M4 B4 50045+51f/KB-KW34 4902 = 4550 - = - - = - - = -
5A1H 661/ —F#R 634-373 |193/KBFRAAK(Fk FAK)R74 ML AK AS 50048101 /KB-KW30 4501 = 4170 - = - - = - - = -
5A1H 661|aE—F#k 627-778 |G)7Y ¥ 0yIA/FREREN VA FRHR)A4 5008/ GAAA4636 685 = 665 - = - - = - - = -
5A1H 6613 —F#R 627-779 |G)7¥ £ 0yIA/FRERFEN TVAFHRIA3 5008/ GAAA4639 1409 = 1359 - = - - = - - = -
5A1H 661\ —F#k 627-785 |G)E AyIA/BAEMET/I0-h7-FKFIE —A—N—C2r A4 5003 751 = 732 - = - - = - - = -
581H 661/ —F#R 627-788 |G)E OyIA/BEME/I0-H7-F AL —A—'—C2r A3 5003 1599 = 1572 - = - - = - - = -
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5A1H 661/ —F#k 627-784 |G)E' OyIA/BEME/HO-h7-F I —A—n"—C2r B5 5004K 569 = 548 - = - - = - - = -
5A1H 662 OE—F#R 640-832 |G)1Y3/KBHIR(E B F £ #£100)A4 500%/KB-SS39 720 = 700 - = - - = = - = =
5A1H 662 |3 —FA#K 640-831 |G)1)3/KB AfRUE B BB £ £K100) A3 500#/KB-SS38 1461 = 1,420 - = - - = - - = -
6R1H 662 OE—F#R 640-835 |G)1/3/KBFAIR(E BB B £ #£100)A4 50080+5f /KB-SS39 3176 = 3388 - = - - = = - = =
681H 662 | —F#K 640-834 |G)1/3/KBAR(E BB FE 4 #£100) A3 5004%*3fft/KB-SS38 3868 = 4188 - = - - = - - = -
6R1H 662 OE—F#R 640-833 |G)1/3/KBHIR(E BB £ #£100)B4 50080+5f/KB-SS34 4856 = 5278 - = - - = = - = =
681H 662 |3 —FA#K 597-942 |293/% 7 I AR A4 3078 10042/KB-109H30 424 = 480 - = - - = - - = -
6R1H 662 OE—F#R 597-951 |293/% 3 FA#R B5 267% 1004X/KB-105H26N 312 = 348 - = - - = = - = =
6818 664 |2 —F#K 597-879 |293/7h7—at’—FR#K A4 2504 /KB-F259 818 = 898 763 (5~9) = 864 (5~) 713 (10~) = = - = =
6R1H 664|JE—F#K 597-897 |193/7H7—2t - FA#K A3 2504 /KB-F258 1651 = 1,795 1426 (5~9) = 1,739 (5~) 1,324 (10~) = = - = =
6818 6640 — R 597-861 |193/7)Vh5—1t—FA#K B5 250#K/KB-F255 678 = 746 643 (5~9) = 719 (5~) 611 (10~) = = - = =
6818 6640 —F#R 597-888 |193/7h7—1t—FAfK B4 2504K/KB-F254 1228 = 1,363 1,117 (5~9) = 1,291 (5~) 1,015 (10~) = = - = =
5818 664 JE— AR 780-876 |143/h5-L—4 —&h5—at’-FAfR ERAAR A4 1004k/LBP-F31 978 = 906 - = - - = - - = -
5A1H 664|JE—FR#K 780-885 |143/h7-L—Y —&h7—at’-FAfk EHEAHE A3 1004%/LBP-F33 1966 = 1,821 - = - - = = - = =
6A1H 664|025 — R 780-858 |143/h7—-L—¥ —&h7—at’-FAfR 3SR A4 1004K/LBP-FH1810 849 = 948 - = - - = = - = =
5A1H 664|JE—F#K 597-924 |193/h5-7" 3RS IR#K A4 100#K/KB-FG159 1296 = 1,213 - = - - = = - = =
6818 665 | —F#K 601-115 |¥v/0/E BB R#K GF-C081 A4 500%%/4044B002 1,350 = 1424 - = - - = - - = -
6818 665 O —F#k 601-117 |¥v/v/mE £ A#k GF-C081 A3 5004%/4044B001 2,700 = 2853 - = - - = - - = -
5A1H 665 O — R 601-167 |¥v/v/E A B RA#K GF-C081 A3/t 250%K/4044B017 1886 = 1728 - = - - = - - = =
6818 665 O —F#k 601-130 |¥v/v/&=E £ Ak GF-C081 B4 5004%/4044B009 1,930 = 2,134 - = - - = - - = -
6818 665 O — Ak 733-248 | 1770/} -7 VY 4R L BEEEIR A4 2504/ LPCPPA4 635 = 668 - = - - = - - = -
6R1H 665 JE—FA#k 733-257 |1770/Lb—%"-7 4 A L B &S A3 2508 /LPCPPA3 1269 = 1,330 - = - - = = - = =
6A1H 665 O — Bk 733-266 |I177Yu/L—4' -7V 4E R L EE@HA3/L 2504/ LPCPPA3W 1813 @ 1910 - = - - = - - = -
6818 665 — ik 733-275 |177Yv/V—4%"=7") 4 FHI—Mi A4 250#K/LPCCTA4 1224 = 1,280 - = - - = - - = -
6818 665 I — Bk 733-284 |177v/b—4%"=7") 4B FHI1—MK A3 250#8/LPCCTA3 2448 = 2560 - = - - = - - = -
6818 668 | — Rk 636-437 |#CINBIHK/Z1—771Uh5— A4 {10- 500%K 729 = 768 - = - - = - - = -
6A1H 668 | O — Rk 636-433 |FCIN B/ Z2—7710h7— A4 HY)—L 5008 729 = 768 - = - - = - - = -
6818 668 | — Rk 636-440 |#2 N BAK/Z2—771Uh7— A4 F41)—L 500%K 729 = 768 - = - - = - - = -
6A1H 668 | O — Rk 636-457 |FCIN B/ Z2-7710h7— A4 TAK'1)— 5004 729 = 768 - = - - = - - = -
6818 668 | — Rk 636-454 |#C I B/ Z1—T74Uh5— A4 FAPE"VY 500%% 729 = 768 - = - - = - - = -
6A1H 668 | O — Rk 636-448 2N B/ Z1—771Uh7— A4 EVY 5004K 729 = 768 - = - - = - - = -
6818 668 | — Rk 636-465 |#CIN B/ Z1—T71Uh5— A4 57—V 5004 729 = 768 - = - - = - - = -
6A1H 668 | O — Rk 636-492 |#CIN B/ Z1-I710h7— A4 1M1=V 5004K 729 = 768 - = - - = - - = -
6A1H 668 | — Rk 636-468 |#T N BAK/=1—771Uh7— A4 ANh47 IL— 5008 729 = 768 - = - - = - - = -
6A1H 668 | O — Rk 636-472 |#CIN B/ Z2-7710h7— A4 74177 — 50088 729 = 768 - = - - = - - = -
6818 668 | — Rk 636-475 |#CIN B/ Z1-T710h7— A4 =TIl 500%K 729 = 768 - = - - = - - = -
6A1H 668 OE—F#R 636-478 |FCIN B/ Z2—7710h7— A4 ALY 5008K 729 = 768 - = - - = - - = =
6818 668 |2 — Rk 636-434 |#2INEHK/=1—T74 VN7~ A4 110 50045+5HHH 3479 = 3635 - = - - = - - = -
6RA1H 668 O —F#R 636-431 |FCIN B/ Z2—-7710h7—A4 HY)—L 500%0+51H 3479 = 3,635 - = - - = = - = =
6818 668 |2 — Rk 636-438 |#CINBUSR/Z1—T71UhT— Ad F449)—L 500851 3479 = 3635 - = - - = - - = -
6A1H 668 O —F#R 636-455 |FCIN B/ Z2—7710h7— A4 TAK'1)— 500%80x51H 3479 = 3,635 - = - - = = - = =
6818 668 |2 — Rk 636-451 |#T I EHR/Z1—T74Uh5— A4 FAPE"VY) 500%%*51H 3479 = 3635 - = - - = - - = -
6A1H 668 O —F#R 636-450 2N B/ Z1—7710h7— A4 E'VY 5004851 3479 = 3,635 - = - - = = - = =
6818 668|aE —F#R 636-463 |F2IN B/ Z2—I71Vh7— A4 §7)—Y 500451 3479 = 3635 - = - - = - - = -
6A1H 668 O —F#R 636-458 |#2 N BAK/=1-T74Uh7— A4 F4+7Y—Y 5008051 3479 = 3,635 - = - - = = - = =
6818 668 | — Rk 636-466 |#TINBUHK/Z1—T71UhT5— A4 ANM7 Ib— 500451 3479 = 3635 - = - - = - - = -
6A1H 668|JE—F#k 636-469 |FCIN B/ Z1—-I710h7— A4 347 IL— 5008+51R 3479 = 3,635 - = - - = = - = =
681H 668 | O — Rk 636-473 |FC N BUAK/Z2—774Uh7— A4 W—=T7")b 5008551 3479 = 3635 - = - - = - - = -
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6818 668 |t —F#k 636-476 |#2 N BARK/=1—774VhT— A4 ALYV 500851 3479 = 3635 - = - - = - - = -
6R1H 668 OE—F#R 597-447 |G)a93/PPCh7—FA#k A4 7 \— 1004X A /KB-C139NB 354 = 390 - = - - = - - = -
6818 668 |2 —F#K 597-456 |G)a¥3/PPCh7—Fiff A4 ¥')—Y 1004 A/KB-C139NG 354 = 390 - = - - = - - = -
6R1H 668 OE—F#R 597-465 |G)293/PPCh7—F#k A4 £V% 1008 A /KB-C139NP 354 = 390 - = - - = - - = -
6818 668 |2 —F#K 597-474 |G)a43/PPCh7—Fi#f A4 /1I0— 100# A /KB-C139NY 354 = 390 - = - - = - - = -
6R1H 668 OE—F#R 675-335 |G)193/PPChI—FAfk A4 & 500%L/KB-C39B 1516 = 1,580 - = - - = - - = -
681H 668|a —F#K 675-336 |G)33/PPCh7—F#k A4 #k 5004K/KB-C39G 1516 = 1580 - = - - = - - = -
6R1H 668 OE—F#R 675-337 |G)293/PPChI—FAfK A4 £'v% 5004 /KB-C39P 1516 = 1,580 - = - - = - - = -
681H 668|a —F#K 675-338 |G)193/PPCh7—F#k A4 F 500%2/KB-C39Y 1516 = 1580 - = - - = - - = -
6R1H 668|JE—F#K 597-402 |G)a93/PPCh7—Fa#k B5 7 \— 1004X A /KB-C135NB 267 = 300 - = - - = - - = -
6A1H 668 O — R 597-411 |G)aY3/PPCh7—F#k B5 4)—> 1004k A/KB-C135NG 267 = 300 - = - - = - - = -
6R1H 668|JE—F#K 597-429 |G)aY3/PPCh7—FR#k B5 £™»% 100% A /KB-C135NP 267 = 300 - = - - = - - = -
6H1H 668 | —F#K 597-438 |G)343/PPCh7—Fi#k B5 1I0— 1004 A/KB-C135NY 267 = 300 - = - - = - - = -
6R1H 668|JE—F#K 597-483 |G)a93/PPCh7—FA#k B4 7 \— 1004XA/KB-C134NB 480 = 580 - = - - = - - = -
6818 668 | —F#K 597-492 |G)a¥3/PPCh7—Fi#f B4 ¥'')—Y 1004 A/KB-C134NG 480 = 580 - = - - = - - = -
6R1H 668|JE—F#K 597-501 |G)a93/PPCh7—FR#k B4 £'»% 1008 A /KB-C134NP 480 = 580 - = - - = - - = -
6818 668 | —F#K 597-519 |G)343/PPCh7—Fi#k B4 1I0— 1004 A/KB-C134NY 480 = 580 - = - - = - - = -
6R1H 669 OARR#R 619-590 |SAKAET/IZhIA—nN'—/OAFIHR KAL#EK E O A4 E'V) 258 453 = 484 - = - - = - - = -
6A1H 669|OAFR#R 619-591 |SAKAET)ZhIA—N'—/OAFIER KALIK B0 A4 H)-Y 258 453 = 484 - = - - = - - = -
6R1H 669 OARR#R 619-592 |SAKAET/ZHIA—N'—/OATN#E KALAR [E O A4 7')L— 258 453 = 484 - = - - = - - = -
681H 669|OAFR#R 680-496 |1/3/LBP-WP210/fif/Ki&1b#k h/E O A4 504K 913 = 1,225 - = - - = - - = -
5A1H 678| OARR#R 624-111 |17°Y0/7' 07193 W7+ —N=GEF HR>/PXMC24R12 14,400 = 12,800 - = - - = - - = -
581H 678 OAFR#R 624-110 |I77YY/7 071953t b7 =N —<EF FiR>/PXMC24R1 20,700 = 18,400 - = - - = - - = -
6818 679 OARR#R 684-782 |37 ILY=Ib A4 /—hyh 10038 848 = 928 - = - - = - - = -
6818 679 OARR#R 669-091 |57 LY=L A4 2 100%K/ABC1-404-RB08 848 = 928 - = - - = - - = -
6818 679 OARR#R 669-093 |77 ILY—IL A4 4T 100%1/ABC1-404-RB09 848 = 928 - = - - = - - = -
6818 679| OARRHR 669-095 |5A'ILY—)l A4 8T 1004X/ABC1-404-RB10 848 = 928 - = - - = - - = -
6818 679 OARR#R 684-785 |77 LY=L A4 10 PHIBRE 1008 848 = 928 - = - - = - - = -
6A1H 679 | OAR#R 684-787 |3A°ILY—)b A4 12/ PO504H 10048 848 = 928 - = - - = - - = -
6818 679 OARR#R 669-098 |77 ILY—)L A4 12/ MEBFR B - AA1004K/ABC1-404-RB13 848 = 928 - = - - = - - = -
6818 679| OARRHR 669-100 |5A°LY—)L A4 18T 1004X/ABC1-404-RB14 848 = 928 - = - - = - - = -
6818 679 OARR#R 669-102 |7A°ILY—IL A4 20/ 1004%/ABC1-404-RB15 848 = 928 - = - - = - - = -
6818 679 | OAR#R 684-789 |37 ILY—IL A4 21TE 1004% 848 = 928 - = - - = - - = -
6818 679 OARR#R 669-104 |5A°ILY—)L A4 21 L TFHREH 1004K/ABC1-404-RB17 848 = 928 - = - - = - - = -
6A1H 679 | OAR#R 684-791 |3A°LY—)b A4 24T £ THEH 10048 848 = 928 - = - - = - - = -
6818 679 OARR#R 669-107 |57 LY=L A4 24 MR EH 1004K/ABC1-404-RB19 848 = 928 - = - - = - - = -
6818 679 OAFR#R 669-109 |77°ILY—)b A4 44 100%1/ABC1-404-RB20 848 = 928 - = - - = - - = -
6818 679 OARR#R 669-111 |7A° LY=L A4 65 1004%/ABC1-404-RB21 848 = 928 - = - - = - - = -
6818 679 OARR#R 684-784 |3~ ILY—IL A4 /—hyb 5004k 3490 = 3980 - = - - = - - = -
6818 679 OARR#R 669-092 |7A°ILY—)L A4 21 500%1/ABC1-404-RB08 3490 = 3980 - = - - = - - = -
6818 679 OARR#R 669-094 |77 ILY—)L A4 4T 500%/ABC1-404-RB09 3490 = 3980 - = - - = - - = -
6818 679 OARR#R 669-097 |7A°ILY—IL A4 8T 500%1/ABC1-404-RB10 3490 = 3980 - = - - = - - = -
6818 679 OARR#R 684-786 |77 ILY—IL A4 10 PHARE 5008 3490 = 3980 - = - - = - - = -
6818 679 OARR#R 684-788 |77 LY=L A4 12/ PRI E 5008 3490 = 3980 - = - - = - - = -
6818 679 OAFR#R 669-099 |77 LY=L A4 12 MBS B - 3.500%/ABC1-404-RB13 3490 = 3980 - = - - = - - = -
681H 679 OARR#R 669-101 |7A°ILY—)L A4 18T 5004%/ABC1-404-RB14 3490 = 3980 - = - - = - - = -
6818 679 OAFR#R 669-103 |7A°ILY—IL A4 20 5004%/ABC1-404-RB15 3490 = 3980 - = - - = - - = -
681H 679 OARR#R 684-790 |57 LY=L A4 21T 5004% 3490 = 3980 - = - - = - - = -
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6818 679 OARR#R 669-106 |7A°ILY—)L A4 21 £ TFHRH 5004K/ABC1-404-RB17 3490 = 3,980 - = - - = - - = -
681H 679 OAFR#R 684-793 |37 LY=L A4 24 L THEH 5008 3490 = 3980 - = - - = - - = -
6818 679 OARR#R 669-108 |7A° LY=L A4 24T MHIBHREH 5004 /ABC1-404-RB19 3490 = 3,980 - = - - = - - = -
681H 679 OAFR#R 669-110 |77 ILY—IL A4 44T 5004%/ABC1-404-RB20 3,490 = 3980 - = - - = - - = -
6818 679 OARR#R 669-112 |3A°ILY—)L A4 65 500%/ABC1-404-RB21 3490 = 3,980 - = - - = - - = -
5A1H 680 OARR#R 600-345 |G)NANA/FA' LY=L +3ak'— A4 J—hyt BBRIEE 1008/ C1ZF 3600 = 2,840 - = - - = - - = -
5818 701 | OAFB#K 620-285 |OBC/#{RI&E E 5 X /& 1004%/4060 4280 = 4,000 - = - - = - - = -
681H 709 OAFR#R 117-560 |Forestway/IF7 ) AREE A4 H7— 2 471 5004 1540 = 1,880 - = - - = - - = -
6818 709| OAR#R 117-566 |Forestway/3IF7"U4IRE A4 H5— 3ME 67X 500%% 1,640 = 1,880 - = - - = - - = -
6818 709 OAFR#R 117-561 |Forestway/JVF7 ) AMRE A4 h7— 21 473 500K x 5t 7,400 = 8,200 - = - - = - - = -
6818 709| OAFR#R 117-568 |Forestway/YVF74IRE A4 h5— 3@ 671 5004K x 5 7,800 = 8,200 - = - - = - - = -
5A1H 711 | OAR#R 602-064 |Fi—VAMIRE FEZH1ENOE -5P 10001yt 8,300 = 7,980 - = - - = - - = -
5A1H 711 |OAFR#R 602-118 | RER#HK— == 447 A Ef,3L-5P 1000yk 8500 = 7,480 - = - - = - - = -
581H T3 MEBEM-EERAM | 602-104 |FH/MHET-7 4Y=7 77" 100mm*25m 18%/NO.141 12,342 = 11,900 - = - - = - - = -
5A1H 714 MEEM-FELRAH | 621-876 |ZFN'V/fthiET—7 &L 50mm*25m/102N7-50 361 = 350 - = - - = - - = -
581H T4 MEBEM-EERM | 621-877 |ZFN'V/F#hiET—7 EL 50mm*25m 30#/102N7-50 9540 = 9,084 - = - - = - - = -
5818 T4 RBEM-EERR | 621-865 |[£3A4/FHT7—7" 50mm*25m/No.600 385 = 375 - = - - = - - = -
581H T4 REEH - EERT | 621-867 |[¥¥A41/FT7—7" 60mm*25m/No.600 485 = 444 - = - - = - - = -
5818 T4{RBEH-FEAR | 621-866 | +5A4/FT—7 50mm*25m 302 /No.600 10229 = 10,070 - = - - = - - = -
5A1H 715 IREBEM-EEAM | 667-056 | E T E/H7-F 77 1E50mm*&S25m B 30#/N0890YN 7411 = 7,160 - = = - = = - = =
5A1H 715 B EM - FERAM | 667-059 | HEITE/H7-fT—7 1E50mm*KX25m £ 30%/N0890/R 7411 = 7160 - = - - = - - = -
5A1H 715 IMEBEM-EERAM | 667-057 | BT E/H7-F 77 1E50mm*&KS25m & 30#/N0O8IOTH 7411 = 7,160 - = = - = = - = =
5A1H 715 M EM - FERAM | 667-058 |HEETE/H7-fT—7 1E50mm*KX25m & 30%/N0O890H( 7411 = 7160 - = - - = - - = -
5818 715 B EM - EXER 5 | 585-285 BRI E/H7-fT-7 1E50mm* R E25m H 30%/N0890T# 7411 = 7160 - = - - = - - = -
5A1H 715 MBI EM - FERM | 626-468 | HBRTE/H7-fT-7 1E50mm*&K25m #& 30£/N0O890Z}H 7411 = 7160 - = - - = - - = -
5818 715 B EM-EER R | 585-292 | BRI E/H7-fT-7 1E50mm* K E25m §R 30%/N0O890%'Y 7411 = 7160 - = = - = = - = =
5A1H 715 B EM-FERM | 626-793 | HBEITE/H7-fT-7 1E50mm*{&K25m 11)—7" 30%/N0O8907 7411 = 7160 - = - - = - - = -
5A1H 715 MEBEM - FEAM | 585283 | BT E/H7-FH 77 1E50mm*&E25m 4LUY" 30%/NO890AL 7411 = 7160 - = - - = - _ > _
5A1H M5 MBEM-FERASR | 585-287 | BT E/H7-fT7-7 1E50mm*&K25m”)'L—7'30%/N0O89I0Y L 7411 = 7160 - = - - = - - = -
5818 715 B EM - EER M | 585290 | BT E/H7-fT-7 1E50mm*&K25m £'—F 30%/NO8IOL"~ 7411 = 7160 - = - - = - - = -
5A1H 5| MBEM-FEFAR | 585-294 | HBETE/H7-%H7-7 1E50mm*&K25m Y—% 30%/N0O890Y— 7411 = 7160 - = - - = - - = -
581H 717 |{BEEM - X FA & | 638-908 |Forestway/EBHOPPT—7" 48mm X 50m 124 = 124 - = 117 (5~) - = - - = -
581H 717 |{REEH - FXH & | 638-909 |Forestway/FEBIOPPT—7" 48mm X 50m 50% 5340 = 5340 4699 3~) = 4,690 (3~) - = = - = =
581H 1B EH-FERAR | 621-897 2R/ BBRBERAT-7 50mm*50m 3%2/J6040 589 = 426 - = - - = - - = -
5A1H 17| MEEM-FERM | 621-896 |ZFR/BEBREEAT-7 48mm*50m 3%/J6130 500 = 366 460 (5~) = 339 (5~) - = = - = =
5818 718 IRMEBEM-FERAM | 667-124 |ZFMR/EFFEHAEE A T-7PK3900 50mm+*50m 50%/J6150 11,700 = 9,799 - = - - = - - = -
5A1H 718 B EM - EER S | 582-055 |3M/A19F FTFoI<INST-7 48mmig X 35m/3842K 320 = 287 - = - - = - - = -
581H 719 MBEM-FERAM | 621-914 |G) 3 R4/FEBAYART—7'No.784 50mm*25m/N784X03 284 = 264 274 (5~) = 244 (5~) - = - - = -
5A1H 719 REBEM-EERAM | 621-915 |G) ¥ R4/FFEBAYPAT—7'No.784 50mm*25m 30 /N784X03 7,138 = 6453 - = - - = - - = -
581H 719 {REBEM - FERAR | 667-038 |[+XA1/FT-7 1B50mm*+RE25m B 1%/NO.600A 218 = 212 - = 199 (5~) - = - _ = _
5818 719 HREBEM-EERM | 667-039 |£324/F7—7 1E50mm*K£S25m B 30%5/NO.600A 5658 = 5330 - = - - = - - = -
5818 719 REEM -EEXER R | 667-040 |[£3R4/F7—7 1E50mm*{KE25m ¥ 1%/N0O.600A 218 = 212 - = 199 (5~) - = - - = -
5818 719 HREBEM-EERM | 667-041 |£324/F7—7 1E50mm*KI25m % 30%5/NO.600A 5658 = 5330 - = - - = - - = -
5818 719 MEBEM-FERM | 663-141 |FFE/ B> TIEAES P-hyb7-7 1818mm/NO.4142 169 = 147 - = - - = - - = -
6818 19| MBEH - EEAR | 669-073 |ZFAR/EZNT—7'S Fr B19mm* K E10m/J2571 36 = 42 - = - - = - - = -
681H 719 {REBEH - FERAMR | 669-074 |ZFAR/E'ZAT-7'S # TB19mm* K X10m/J2572 36 = 42 - = - - = - - = -
6818 719 RBEH - EERM | 669-075 |ZFAR/E'ZAT—7'S #& 1B19mm* K X10m/J2573 36 = 42 - = - - = - - = -
681H TR EM - FERASR | 669-076 |ZFAR/E'ZAT-7'S F MB19mm* K E10m/J2574 36 = 42 - = - - = - - = -
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681H 719 AEEM-EER& | 669-077 |ZFAR/EZLT-7'S B TB19mm*xKE10m/J2575 36 = 42 - = - - = - - = -
6R1H T REEHM XA | 669-079 |ZFAR/E'ZLT—7'S B 1E19mm*K&10m/J2577 36 = 42 - = = - = = - = =
681H 719 AEEM-EER& | 669-080 |ZFAR/EZLT—7'S IR TB19mm* K X10m/J2576 36 = 42 - = - - = - - = -
6R1H | BEEM - EXLA S | 669-081 |[ZFAR'/EZLT—7°S FHEBH 1E19mm* K X10m/J2578 36 = 42 - = = - = = - = =
6818 719 RBEEM - EER R | 656647 |ZFAR/EZLT—7'S 19mm X 10m 7 5&n"y49/J2591 175 = 198 169 (3~) = 188 (3~) - = = - = _
6R1H 119 {AEEM-EERS | 656-648 |ZFAR/EZLT—7'S 19mm X 10m & 5&n'v9/J2592 175 = 198 169 3~) = 188 (3~) - = = - = =
681H 719 REEM-EEXR T | 656668 |ZFAR/EZLT—7'S 19mm X 10m #% 5&1'y9/J2593 175 = 198 169 3~) = 188 (3~) - = - - = -
6R1H 9 REEM-EERS | 656-669 |ZFAR/EZLT—7'S 19mm X 10m & 5&n'v)/J2594 175 = 198 169 3~) = 188 (3~) - = = - = =
681H 719 REEM-EERR | 656671 |ZFAR/EZLT—7'S 19mm X 10m B 5%&n'y49/J2595 175 = 198 169 3~) = 188 (3~) - = - - = -
6R1H 719 REEM -EERG | 656672 |ZFAR/EZLT—7'S 19mm x 10m 8 5&n"y9/J2597 175 = 198 169 3~) = 188 (3~) - = = - = =
6818 719 B EM-FERM | 656-678 |ZFAR/E'ZIT—7°S 19mm X 10m R 5&n"y4/J2596 175 = 198 169 3~) = 188 (3~) - = = - = =
6R1H | REEHM XA | 656-720 |ZFAR/E'ZLT—7S 19mm X 10m FBHA 5&1"y/)/J2598 175 = 198 169 3~) = 188 (3~) - = = - = =
5A1H 720 B EM -FERM | 697-895 |3 4¥TYIA/AZRT—7" AF47°4E 1E50mm X 25m/TT-06-YB 674 = 510 - = - - = - - = -
6818 721 {REEH - EER S | 137-486 |Forestway/ZEET-7" 74+)—Y 50mm X 25m 30% 6,201 = 6,204 5244 (3~) = 5494 (3~4) - = 5244 (5~) - = =
6818 721 WREEM-EEHA& | 137-488 |Forestway/E4T-7" FFEBH 50mm X 25m 30% 6,201 = 6,204 5244 (3~) = 5494 (3~4) - = 5244 (5~) - = -
581H 721 {BEEM-1EEF& | 648-173 | FREEEFT/Phyb—7ELE R BEEE 25mm+*25m/N0.4140 147 = 147 - = 138 (5~) - = - - = -
5818 721 | BEH - FERM | 756-504 |FRE/P-hybT-7BER EFZE 50mm*25m/N0.4140 260 = 260 - = 252 (5~) - = = - = =
581H 721 {RBEM-EER&R | 614-786 | FREEAVEAT/P-Ivh7-7ELER F 50mm*25m/No4140 260 = 260 - = 252 (5~) - = - - = -
5818 721 {RBEM-1EERA&M | 614-784 | FREERT/P-Hyh7-7" B4 HHH 50mm*25m/Nod140 260 = 260 - = 252 (5~) - = = - = =
581H 721 IMBEM-EERM | 621-902 |FRERER/P-hytT-7FEER 7~ 50mm*25m/NO.41407% 260 = 260 - = 252 (5~) - = - - = -
5818 721 | ABEM-EEF&R | 667-163 | FEEAVERT/PHyrT—7" & 1E50mm*25m 1% /No.4140 260 = 260 - = 252 (5~) - = - - = -
581H 721 {BEDEM-EER& | 121-052 | FREBEF/P-IvbT-7"E4 A 2 50mm X 25m/No.4140 260 = 260 - = 252 (5~) - = - - = -
5818 721 {RBEM-1EERA&S | 121-054 | FREBER/P-hybT-7"F LA £V 50mm X 25m/No.4140 260 = 260 - = 252 (5~) - = = - = =
5A1H 721 MEBEM-EERAM | 102-973 |FRRER/PIvM -7 E4ER FIE25mm*25m60% /N0.4140 8280 = 7,670 - = - - = - - = -
5A1H 721 {RBEM-1EEXFA& | 656-595 | FREER/BERAP-IWM -7 o BE B FE 148 257 = 243 - = - - = - - = -
5A1H 721 B EM-1EERA& | 656-597 | FREERT/BEERAP-IWIMT-7 o BE-BE F 18 257 = 243 - = - - = - - = -
5A1H 721 {RBEM-1EEXF& | 656-640 | FRBER/ BERAP-IINM -7 o BE BK FH 15 257 = 243 - = - - = - - = -
5818 724 {REEM-EERR | 624-914 |FE/PhyrEIET—7 1E10mm*&KX20m/N0O.7100 284 = 198 - = - - = - - = -
5A1H 24| B EM-EERR | 624-916 | FE/PhyMEET-7 1E15mm*KE20m/N0O.7100 427 = 288 - = - - = - - = -
5818 124\ BEEM -EEAR | 624-917 |FRE/PHyMEET-7 HE20mm*HKE20m/N0.7100 570 = 378 - = - - = - - = -
5A1H 124 ABEM-FERA&R | 624-918 | FFE/PhyMEET-7 1E30mm*&KE20m/NO.7100 855 = 578 - = - - = - - = -
581H 724\ REEM-EEAS | 624-919 | FE/PHMEET-7 1850mm+*&KE20m/NO.7100 1425 = 978 - = - - = - - = -
5A1H 726 WREEM - EER & | 542-502 |ZFNU/TINE4F FE9F 30cc/AR-R30 714 = 559 - = - - = - - = -
5818 726 REEHM -1EEAR | 542-511 |ZFNV/TINE A 2495+ 30cc/AR-S30 650 = 485 - = - - = - - = -
581H 727\ BEEM-EERAR | 667-182 |HFN/8K1° L 100g F8A #10/GC-012 260 = 259 - = - - = - - = -
581H 727\ ¥REEM - EXH& | 896-661 |Forestway/#§31°L NO.16 100g /NFE 113 = 113 - = 108 (5~) - = - - = -
5818 727 | #REEM - FEF & | 896-643 |Forestway/$#3°LA NO.18 100g /M8 113 = 113 - = 108 (5~) - = - - = -
5818 129 R EEM-1EER S | 116-517 |AFIV4bo/10Yamv)34 BRI LB 1004&/AB100-100 146 = 128 - = - - = - - = -
5A1H 729 {REEM-EER S | 116-518 |[AFIVMbu/10vamvh94 BAR 2.8 1004/AB200 459 = 438 - = - - = - - = -
5A1H 729 WA EM-EEMA M | 116-524 |A79034by/40va0y954 B A 2 1004K/AB200-W 618 = 589 - = - - = - - = -
5818 729 HRBEM-EERAM | 116-525 |[A79U44b0/10a0v994 BSL A £ 1004K/AB250-W 1,280 = 1,070 - = - - = - - = -
581H 729 WMEEM - EER& | 116-526 |[AFIVb/40vanyis4 B A 2 1004/AB300-W 1401 = 1,270 - = - - = - - = -
5A1H 729 {RBEEM - EER S | 116-527 |[AFIVMb0/40vaRv)94 BSL R & 504 /AB350-W 1490 = 1,470 - = - - = - - = -
581H 729 MR EM - ELA& | 893-124 |IRY —T2/5-7' V494 2.6mmiE/SG-100 198 = 117 - = 109 (5~) - = - - = -
5A1H 729 {REEM -EERAS | 893-133 |[IAY —T2/5-7 44 3.4mmiiE/SG-150 298 = 206 - = 197 (5~) - = - - = -
581H 729 HREEM - ELHA& | 893-142 |IRY - T 2/5-7' V494 44mmiiE/SG-200 598 = 416 - = 397 (5~) - = - - = -
5A1H 730 HREEM-EER & | 137495 |AbLyF24ILA 14390 1E500mm* R 3300m 31UF 63 3780 = 3218 3680 2~4) = 3,138 (2~4) 3312 (5~9) = 3,058 (5~9) 3,228 (10~) = 2,978 (10~)
581H 730 WMEEH - EER& | 639-218 |AMyF74A 15350Y 1E500mm* K E300m 31VF 6 3950 = 3398 3,850 (2~4) = 3,338 (2~4) 3,550 (5~9) = 3,278 (5~9) 3,399 (10~) = 3,218 (10~)
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6818 731 | HREEM XA | 669-068 | R EERH -5 No.4 SSHAR™ 204K 340 X 250 X 335mm 2681 = 2940 1,733 3~) = 1,900 (3~) - = - - = -
681H 731 B EH - FERAMA | 602-349 |FEEER —IFE No.1 SHAR™ 204K 385 X 275 X 189mm 2,161 = 2240 1,311 3~) = 1,311 (3~) - = = - = =
6818 731 | REEHM - 1EEAT | 602-351 |RERIEEHR —LFE No.2 SH4R" 204k 385 x 275 X 255mm 2369 = 2460 1,464 3~) = 1,464 (3~) - = - - = -
681H 731 B EH - FE£RM | 602-356 | R EEEF —IFE No.1 MY4R™ 2047 410 X 310 X 190mm 2401 = 2490 1489 (3~) = 1,540 (3~) - = = - = =
6818 731 | HREEM £ | 602-360 | P EERH —IVFE No.3 M¥{A" 204K 410 X 310 X 295mm 2989 = 3,100 1,799 3~) = 1,880 (3~) - = - - = -
581H 731 B EH - EEXRAM | 602-362 |FEEEE —IFE No.1 LY¥4R" 1047 470 x 330 X 210mm 1,366 = 1,366 884 (6~) = 884 (3~) - = = - = =
5818 731 | IREEM - 1EE£A T | 602-364 | P EERH —IFE No.2 L¥{R" 104K 465 X 325 X 255mm 1477 = 1477 949 (6~) = 949 (3~) - = - - = -
581H 731 B EH-EXRM | 602-366 | FEEEE —IVFE No.3 LY¥4R™ 104% 465 X 325 X 295mm 1483 = 1483 989 (6~) = 989 (3~) - = = - = =
5818 731 | IREEM - 1EEA T | 669-072 |hERERH —IFE No.4 LY{R" 104K 465 X 325 X 400mm 1543 = 1543 1,263 (6~) = 1,263 (3~) - = - - = -
5A1H 731 {REEM - EER S | 602-368 | EERK -IFE 2LYM4R" 1047 550 X 335 X 335mm 2257 = 2257 1,389 (6~) = 1,389 (3~) - = = - = =
5818 731 |{RBEM - 1EE A& | 602-370 | R RIEEH —)LFE 3LYMR" 104K 620 X 460 X 415mm 3111 = 3111 1,864 (6~) = 1,864 (3~) - = = - = =
6R1H 7132 {REEM-EERG | 602-374 | REEBN VA 7M7)~k NO.4) 58 715X 515 X 530mm 2428 = 2,600 2,256 (6~) = 2,480 (3~) - = = - = =
6A1H 7132 {REEM-EER S | 602-373 | REERK -LFE(3 7 V7)—F NO.3) 58 625 X 465 X 430mm 1828 = 1950 1,756 (6~) = 1,930 (3~) - = = - = =
6R1H 7132 {REEM-EERG | 602-372 | REERN -VFEH 7M7)~k NO.2) 58 555 X 340 X 350mm 1,756 = 1,880 1,656 (6~) = 1,820 (3~) - = = - = =
6818 732 IMEBEM-FERM | 602-371 | KREEK-VFEE 7 L7~ NO.1) 58 470 x 330 X 305mm 1618 = 1,730 1,380 (6~) = 1,520 (3~) - = = - = =
581H 735 | MREEM - EERM | 602-301 |A—-N'—N'yY /3-T4V) EEELE /N 10042/926600680 3809 = 3809 3697 (2~) = 3,505 (2~) - = - - = -
5A1H 4\ WMEEM-FERMm | 667-301 |£REH/MEBE N7 V-FEE 150kegfii E/PHB-150GS 14276 = 13,300 - = - - = - - = -
581H 741 |{RBEM-EERA& | 667-302 |&REH/MEHAE VM7 L—FE E 300kt E/PHB-300GS 17,990 = 17,800 - = - - = - - = -
581H 12| MEEM-1EEA T | 657-428 | &REHI/AF-I2EXEE/NHT-104 13,800 = 12,700 - = - - = - - = -
6R1H 12 WMEEH-FERMA | 667-184 |£REH/150keTTERER BNA=1=#5/BOX-107E 4742 = 5480 - = - - = - - = -
6A1H 142 WMEEM-FERG | 667-185 |&REH/300kemMEREHA BRNAIT=1-#5/B0OX-307E 8,381 = 8880 - = - - = - - = -
5A1H 743 B EM-EERAM | 585-116 |F5A1/Z15E& 7'0F 1000 x 400 X H850/TDWT-910 18,000 = 16,222 - = = - = = - = =
6A1H T3 RBEM - EERA&R | 921-422 |[TQYRA-YY/ YT H ATy 26X 7°5390/0SU-2 2980 = 3470 - = - - = - - = -
5818 745\ MMEEHM -1EEA T | 682-481 |YFEALAF M 12048 4290 = 4280 - = = - = = - = =
5A1H 745 B EM - EER & | 682-483 |[IFEALAF L 12048 4290 = 4,280 - = - - = - - = -
6818 748 MBEEM - EERAM | 622-077 |IAT—/ZMIENEYFELE S K74+ 1004/N0.981 1,180 = 1,280 1009 3~) = 1,048 (3~) - = - - = -
6A1H 748 WMBEM - FERM | 622-153 |[TAT—/ZMIELEYF L S 71— 1004/N0.981 1,180 = 1,280 1,009 3~) = 1,048 (3~) - = = - = =
6818 748 MREEM - EERAM | 622-078 |IAT—/ZMIELEYFLE M 74k 10048/N0O.981 1,180 = 1,280 1009 3~) = 1,048 (3~) - = - - = -
6A1H 748 WMEEM - EERM | 622-154 |[TAT—/ZMIENEYFHE M 7' L— 1004K/N0.981 1,180 = 1,280 1,009 3~) = 1,048 (3~) - = = - = =
6818 748 {RBEM - FERR | 622-079 |[IAT—/ZMMELEYFS L 574+ 1004/N098T 1,180 = 1,280 1009 3~) = 1,048 (3~) - = - - = -
6A1H 748 IMBEM - EERM | 622-155 |[TAT—/ZMIELEYFLE L 70— 1004K/N0.981 1,180 = 1,280 1,009 3~) = 1,048 (3~) - = = - = =
6818 748|{REEM -EEA S | 622-080 |TAT—/ZMLFELVEYFL LL K74F 1004/NO.981 1,180 = 1,280 1009 3~) = 1,048 (3~) - = - - = -
6A1H 748 | A BEM - EERA&R | 623-963 |[TAT—/ZFIELEYF L LL 7')L— 1004/NO.981 1,180 = 1,280 1,009 3~) = 1,048 (3~) - = = - = =
581H 748 MREEM - EERAM | 921-410 |IAT—/ZMIENEYFL £74F M 10048/No.991 1298 = 1,180 - = 980 (3~) - = - - = -
5A1H 748 | ABEM - EERAR | 921-412 |TAT—/ZMMEVEYFE 70— M 100%2/No.991 1,298 = 1,180 - = 980 (3~) - = = - = =
581H 748 MREEM - EERAM | 921-411 |TAT—/ZMIELEYFL £74F L 10048/No.991 1298 = 1,180 - = 980 (3~) - = - - = -
5A1H 748\ {REEM - EERAR | 921-413 |IAT—/ZMLELVEYFEL 70— L 1004/No.991 1,298 = 1,180 - = 980 (3~) - = - - = -
6H1H TA8|MRELEM 1EERA T | 602-410 |IAT—/KRATLMELEYFES 1004/No910 807 = 917 - = 830 (3~) - = - - = -
6RA1H 748 {RBEEM - EER S | 602-411 |[IAT—/KARTLAFELELYFEM 1008/No910 807 = 917 - = 830 (3~) - = = - = =
6H1H TA8|MRELEM XA | 602-412 |IAT—/RATLMELEYFLEL 1008/No910 807 = 917 - = 830 (3~) - = - - = -
5A1H 750 R B EM - EEAM | 697-906 |74 YTyIR/EIHT—7 1820mm X 10m/TK-30-GR 2241 = 2171 - = - - = - - = -
581H 750 R B EM -EERA& | 616-300 |2=%"7/ALAyMRIVE = EY) §71)—Y/ST#148-EZ 1409 = 1,380 - = - - = - - = -
5A1H 750 B EM -EERM | 616-301 |4=%"7/ALAMARGVE —FEY) K741 /ST#148-EZ 1409 = 1,380 - = - - = - - = -
5A1H 750 R B EM -EERA& | 616-303 | 2=4"7/AlAyMRGVY -} EY) 410—/ST#148-EZ 1409 = 1,380 - = - - = - - = -
6A1H 751 | [EEHFA & 658-768 | F{RTERY—VILY 0-)L 1E58+4} E80% N E12mm 80 10,240 = 10,672 - = - - = - - = -
581H 753 | [EEH A & 190-862 |#EREE/MRELY K(ZLH) 85 1004%/00722108 88 = 84 - = 80 (10~) - = - - = -
5A1H 753 | [EEHFA & 190-863 |ffEREE/FRIELY H(FLA) 125 100#2/00722112 124 = 101 - = 95 (10~) - = - - = -
581H 753 | [EEH A & 190-864 |#HERE/RELY K(ELA) 165 10042/00722116 143 = 143 - = 135 (10~) - = - - = -
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5818 753 | [EEH A & 190-865 | ERE/MRELY K(ZLH) 205 1004%/00722120 184 = 163 - = 157 (10~) - = - - = -
5A1H 753 | IE &R & 190-866 |ffERSE/FRIELY K(ZLA) 255 100#2/00722125 193 = 189 - = 182 (10~) - = - - = -
5818 753 | [EEH A &h 190-867 |#ERE/MRHELY K (ZLH) 305 1004%/00722130 231 = 215 - = 206 (10~) - = - - = -
5A1H 753 | IE &R & 190-869 | ERE/FRIELY K(ZLA) 455 100#2/00722145 372 = 318 - = - - = - - = -
6818 753 | [E A &h 190-876 |#ERE/RELY H(ELA) 85 10051 x 201y 1,632 = 1,560 1,560 (2) = 1,410 (3~5) 1,480 (3) = 1,150 (6~) 1342 (4~) = -
581H 753 | IE &R & 190-877 #EME/HRELY R(ELA) 125 10058 X 201"y 2200 = 1850 2,085 (2) = 1,770 (3~5) 2,016 (3) = 1,600 (6~) 1830 (4~) = =
6818 753 | IG5 A 190-878 |#EREE/HEHLYRELA) 165 1004 x 201"y 2580 = 2630 2,447 (2) = 2,490 (3~5) 2,356 3~) = 2,270 (6~) - = -
6R1H 753 | IE &R & 192-147 |#EESE/RKELY H(ELA) 205 10042 X 201 y) 3302 = 3,050 3,127 (2) = 2,910 (3~5) 3,027 (3) = 2,630 (6~) 2816 (4~) = =
6818 753 | IG5 A 192-148 | #EBEE/EHRLYRELA) 255 10048 x 201"y 3508 = 3530 3,302 (2) = 3,370 (3~5) 3,194 3~) = 3,040 (6~) - = -
5A1H 753 |G &R & 192-149 #EFEE/HRELY H(ELA) 305 1004 X 20V 'y) 4160 = 4,010 3,948 (2) = 3,790 (3~5) 3829 (3~) = 3,460 (6~) - = =
6A1H 753 | [EEH A &h 192-150 |#EREE/RELY HELA) 355 1004 X 101n'y) 2398 = 2560 2,280 (2) = 2,480 (3~5) 2210 3~) = 2,370 (6~11) - = 2,140 (12~)
581H 753|[E& A & 192-151 | #EEE/HKLYR(ELA) 4565 10088 X 10n"y) 3278 = 3050 3,174 (2) = 2,960 (3~5) 3,059 (3) = 2,830 (6~11) 2,791 (4~) = 2,550 (12~)
5A1H 754 |[E&FA S 190-870 |# RS/ FEHALY & 88 100%1/00722208 12 = 84 - = - - = - - = -
5A1H 754 |5 A & 192-152 #EFEE/FBEALY & 85 1008 X 201"y4/00723208 1,900 = 1,610 - = 1,560 (3~) - = - - = -
581H 754 | ISR S 190-871 |#HEREE/FBHELYE 125 100%/00722212 158 = 101 - = - - = - - = -
5A1H 754 |5 A & 192-153 |#HEREE/FBEALY & 125 10048 x 201yH/00723212 2570 = 1910 - = 1,850 (3~) - = - - = -
581H 754 | ISR S 190-872 |#EREE/EBIALY R 208 10042/00722220 226 = 163 - = - - = - - = -
5A1H 754 |5 & 192-154 |#HEFEE/FBEALY & 205 10048 x 2017yH/00723220 3856 = 3,150 - = 3,040 (3~) - = - - = -
5818 754 | ISR S 190-874 |#EBEEE/FBEHLY K 458 10048/07222245 457 = 318 - = - - = - - = -
5A1H 754 |5 & 192-155 |#HEFEE/FBEALY & 455 10048 x 101y)/07223245 4114 = 3,050 - = 2,960 (3~) - = - - = -
581H 754 | ISR S 190-875 |#EREE/HBHALY R 602 10042/00722260 707 = 462 - = - - = - - = -
5A1H 754 |5 A & 192-156 |#EFESE/FFBEALY & 605 1004K x 10/yH/00723260 6,037 @ 4440 - = 4,297 (3~) - = - - = -
5818 755|[E& A S 194-673 |#fERZE/LD03 KL 15 10042 A /00722001 = 62 - = - - = - - = -
5A1H 755|[E & & 194-674 |#HEFGE/LD03 KL 25 1008 A /00722002 78 = 66 - = - - = - - = -
5818 755|[E& A & 194-675 |#fERE/LD03 $R1ELE 35 1004 A /00722003 80 = 72 - = - - = - - = -
5A1H 755|[E & & 194-676 |f#ERIZE/LD03 fR1&LE 45 1004 A /00722004 83 = 76 - = - - = - - = -
5818 755|[E& A & 194-677 |#fEFE/LD03 FR1ELE 55 1004 A /00722005 92 = 82 - = - - = - - = -
5A1H 755|[E & & 194-678 |#EFGE/LD03 R L 65 1008 A /00722006 94 = 86 - = - - = - - = -
5818 755|[E& A & 194-679 |#fERE/LD03 1L 75 1004 A /00722007 104 = 92 - = - - = - - = -
5A1H 755|[E & & 194-680 |##fERIZE/LD03 &L 85 1004 A /00722008 106 = 102 - = - - = - - = -
5818 755|[E& A & 194-681 |#fEFGE/LD03 FR1ELE 95 1004 A /00722009 115 = 111 - = - - = - - = -
5A1H 755|[E & & 194-684 |f{ERGE/LD03 FHRIFE 125 1004 A /00722012 213 = 206 - = - - = - - = -
5818 755|[E& A & 194-685 |#fERGE/LD03 HRIFE 135 1004 A /00722013 257 = 246 - = - - = - - = -
5A1H 755|[E & & 194-686 |f{ERE/LD03 1K 145 1004 A /00722014 310 = 284 - = - - = - - = -
5818 755|[E& A & 194-687 |#fERGE/LD03 HRIEE 155 1004 A /00722015 358 = 334 - = - - = - - = -
5A1H 755|[E & & 194-688 |f{ERGE/LD03 ¥R 165 1004 A /00722016 504 = 496 - = - - = - - = -
5A1H 755 | [E &M FA &R 194-689 |#fEFE/LD03 HRIFLE 175 1004 A /00722017 510 = 502 - = - - = - - = -
581H 755 | [ £ FA & 194-690 |#{ERIE/LD03 KL 185 1004 A /00722018 599 = 586 - = - - = - - = -
5A1H 755 | [E &M FA &R 194-691 |#fEFE/LD03 HRIFLE 195 1004 A /00722019 656 = 636 - = - - = - - = -
581H 755 | [ £ FA & 194-692 |#ERIE/LD03 KL 205 1004 A /00722020 793 = 766 - = - - = - - = -
5A1H 755 | [E &M FA &R 194-702 |#E % /LD03 &L 15 1004% x 20%8/00722001 1,200 = 1,180 - = - - = - - = -
5A1H 755 | [ £ FA & 194-703 |#{EFSE/LD03 &L 25 1004K x 20%2/00722002 1,320 = 1,260 - = - - = - - = -
6A1H 755 | [E &M FA &R 194-713 |#EFE/LD03 HRIFL 125 1004% X 104£/00722012 1810 = 1,820 - = - - = - - = -
681H 755 | [ £ FA & 194-715 |#{EFE/LD03 &% 145 1004K X 548/00722014 1,335 = 1,400 - = - - = - - = -
5A1H 755 | [E &M FA &R 194-716 |#EESE/LD03 B 155 1004K x 5%¢/00722015 1,605 = 1,580 - = - - = - - = -
681H 755 | [E £ FA &h 194-717 |#{EFSE/LD03 &% 165 1004K X 542/00722016 2225 = 2300 - = - - = - - = -
6A1H 755 | [E & FA &R 194-718 |#EE % /LD03 &L 175 1004K x 5%¢/00722017 2250 = 2380 - = = - = = - = =
681H 755 | [E £ A &h 194-719 |#{EFE/LD03 &L 185 1004X X 54¢/00722018 2695 = 2750 - = - - = - - = -
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681H 755 | [E £ FA &R 194-720 |#{ =/ /LD03 &% 195 1004K X 54/00722019 2950 = 3015 - = - - = - - = -
681H 755 | IE & FA & 194-721 |#EFEE/LD03 R 205 1004 x 55¢/00722020 3570 @ 3630 - = - - = - - = -
581H 755 | [E £ FA &R 194-722 |#{EFGE/LD03 FRIKLE 125 1004K x 504%/00723412 9,080 = 8473 - = - - = - - = -
5A1H 755 | IE & FA & 194-723 |#fEMZ/LD03 HRIFL 135 1004K X 304£/00723413 6,694 = 6,068 - = - - = - - = -
581H 755 | [E £ FA &h 194-724 |#ERE/LD03 KL 145 1004K x 30%%/00723414 8006 = 7,004 - = - - = - - = -
5A1H 755 | IE & FA & 194-725 |#EMS/LD03 HRIFL 155 1004K X 204%/00723415 6,412 = 5883 - = - - = - - = -
581H 755 | [E £ FA &h 194-726 |#HERGZE/LD03 FRIKLE 165 1004K X 204%/00723416 8896 = 8737 - = - - = - - = -
5A1H 755 | IE & FA & 194-727 |#EFE/LD03 HRIFL 175 1004K X 204%/00723417 9,001 = 8843 - = - - = - - = -
581H 755 | [EEHFA &R 195-156 |#fERGZE/LD03 FRIKLE 185 1004 x 204%/00723418 10,780 = 10,233 - = - - = - - = -
5818 755 | 5 & AR & 195-157 |#{EERISE/LD03 KL 195 1004 X 104%/00723419 5904 = 5725 - = - - = - - = -
581H 755 | [E £ FA &h 195-158 |#fEEFGE/LD03 FRIKLE 205 1004K x 104%/00723420 7,139 = 6,890 - = - - = - - = -
5A1H 755 | [E &8 A & 638-871 | YATAR Y=/ yn =K & HE70+4E50mm 100#5/4A 62 = 58 - = 53 (30~) - = - - = -
5818 755|[E& A S 638-872 | YATAR YT/ vy =K #E85+4E60mm 1004%/4B 93 = 85 - = 77 (30~) - = - - = -
5A1H 755 | [E &8 A & 638-873 | YATAR Y=/ yn ==K #1001 70mm 100%¢/4C 97 = 92 - = 83 (20~) - = - - = -
5818 755 | [E &R S 638-875 | YATARYT—/Y vy =) S #E120+4E85mm 10048/4D 136 = 122 - = 110 (20~) - = - - = -
5A1H 755 | [E &8 A & 638-876 |YATARYY—/YyN' =ik #E140+4100mm 10048/4E 147 = 135 - = 123 (20~) - = - - = -
5818 755 | [E &R S 638-877 |YATLR Y=/ y' =K )& #E170+4%120mm 10048 /4F 231 = 213 - = 147 (10~) - = - - = -
5A1H 755 | [E &8 A & 638-878 |YATAR Y=/ yn =K & #E200%1E140mm 100%/4G 284 = 267 - = 215 (10~) - = - - = -
581H 755 | [ FA &h 638-879 |YATARYT—/Y 9N —KK S #E240%1#170mm 1004%/4H 399 = 377 - = 335 (10~) - = = - = =
5A1H 755 | [E &8 A & 638-880 |YATARYY—/Y yn =K% #E280%1E200mm 100%%/41 450 = 407 - = 362 (10~) - = - - = -
5818 755|[E& A S 638-881 | YATLRYT—/Y y'—F)E #E340+4E240mm 100%/4J 627 = 597 - = - - = - - = -
5A1H 755 | [E &8 A & 638-885 |YATARYY—/Y yn =ik #E240%1#170mm 400045 /4H 13,531 = 13,000 - = - - = - - = -
5818 755|[E& A S 638-886 | YATAR Y=/ yn' =K% #E280+1%200mm 20004% /41 7,782 = 7318 - = - - = - - = -
5A1H 755 | [E &R & 638-887 |YATARYY—/Y yn =K% #E340%1E240mm 100048 /4J 5662 = 5540 - = - - = - - = -
6A1H 755 | [EEHFA &h 638-889 | YATLRYT—/Y vy =K% #E480+4E340mm 100048 /4L 9586 = 9890 - = - - = - - = -
5A1H 756 | [E & & 194-693 |#ERGE/HD1 #{T#RIELE 85 1004 A /00722308 92 = 88 - = 80 (10~) - = = - = =
5818 756 | [E&H A & 194-694 |#ERE/HD1 #H{THRHE L 95 1004k A /00722309 102 = 97 - = 87 (10~) - = = - = =
5A1H 756 | [E & & 194-695 |#ERIE/HD1 #H{TFEH&L 105 1004 A /00722310 120 = 107 - = 97 (10~) - = = - = =
5818 756 | [E&H A & 194-696 |ffERE/HD1 #{THRIELE 115 1004 A /00722311 133 = 121 - = 110 (10~) - = = - = =
5A1H 756 | [E & & 194-697 #EME/HD1 TR 125 1004 A /00722312 188 = 177 - = 161 (10~) - = = - = =
5818 756 | [E& A & 194-698 |#fERGE/HD1 #{THRE L 135 1004 A /00722313 216 = 203 - = 184 (10~) - = = - = =
5A1H 756 | [E & & 194-699 |#ERE/HD1 TR L 145 1004 A /00722314 278 = 265 - = 244 (10~) - = = - = =
5818 756 | [E& A & 194-700 |#ERGE/HD1 #H{THRE L 155 1004 A /00722315 310 = 296 - = 267 (10~) - = = - = =
5A1H 756 | [E & & 194-701 |#HERGE/HD1 TR 165 1004 A /00722316 391 = 374 - = 337 (10~) - = = - = =
5818 756 | [E&H A & 194-728 |#ERGE/HD1 #H{TERE L 85 1004% x 50%%/00722308 3848 = 3680 - = - - = - - = -
5A1H 756 | [E & & 194-729 |#ERE/HD1 TR E 95 10041 x 50%¢/00722309 4243 = 3980 - = - - = - - = -
5A1H 756 | I £ FA & 194-730 |#ERGE/HD1 #{THRELE 105 1004 X 50%8/00722310 4950 = 4,390 - = = - = = - = =
5A1H 756 | [& £ FA & 194-731 |#1ERGZE/HD1 #R{T#RAELE 115 1004% % 50%¢/00722311 5547 = 5020 - = - - = - - = -
5A1H 756 | I £ FA & 194-732 |#EFE/HD1 #{THRELE 125 1004 X 3048/00722312 4800 = 4,560 - = = - = = - = =
5A1H 756 | & £ FA & 194-733 |#ERGE/HD1 #{TiRIELE 135 1004K X 25%%/00722313 4597 = 4,400 - = - - = - - = -
5A1H 756 | I £ FA & 194-734 |#EFSE/HD1 TR 145 1004 x 25%8/00722314 5984 = 5740 - = = - = = - = =
5A1H 756 | & £ FA & 194-735 |#ERGE/HD1 A {T#RIELE 155 1004K X 15%%/00722315 4106 = 3,950 - = - - = - - = -
5A1H 756 | I £ FA & 194-736 |#ERGE/HD1 #{THRIELE 165 1004 X 15%8/00722316 4786 = 4610 - = - - = - - = -
5A1H 756 | & £ FA & 921-420 | 1474V L/74 N '9)en—JL(H1)300%200mm 300048 1,667 = 1,280 - = - - = - - = -
5A1H 756 | I £ FA & 688-471 |Y 1474 L/74 Ny)en—)L(H1)300%200mm 30004% 63 8640 = 5680 - = - - = - - = -
5A1H 756 | [& £ FA & 921-418 | 1474V L/ T4 N '9)el—JL(K)340%230mm 30004% 2038 = 1,380 - = - - = - - = -
5A1H 756 | IE £ FA & 688-470 | 1474 L/ T4 Ny)eA—JL(K)340%230mm 30004% 63 11,080 = 7480 - = - - = - - = -
5A1H 759 | [E A & 191-000 |$V+y7" /Rt 74 yy A4 WATI7 b— 108 A /FCB-A4PBN 762 = 756 724 (5~) = 718 (5~) - = = - = =

8/9




AR (T Hith A& T,

RYa—LTA XAV QIRFEAE S 1E LY QIRFEMIE T .

RYa1—LTARHHYRD

RY1—LTARAHIAD

RY1—LTARAHIRR

£EH *Efk/ A7y AXES BREW B SE A% HRSEIlE (3=) BR5EffitE (8=) AR SE(fE (=) HR5EffitE (%=) AR SE(fE (=) HR5EffitE (8=)
(20184F) ZEHEI THEE Z A rHE% P THEE P THEE
581H 759 | [E R FA &R 191-001 YUy 7 /At I1b 'y A4 =47 1b— 104 A /FCB-A4DBN 762 = 756 724 (5~) = 718 (5~) - = - - = -
5A1H 759 | IS &R & 191-002 | Y0397 /Tty A4 WATIE YY) 108 A /FCB-A4PKN 762 = 756 724 (5~) = 718 (5~) - = = - = =
581H 759 | [E R FA &R 191-003 | YU+y7 /At I1bn 'y A4 5=y 108 A/FCB-A4GRN 762 = 756 724 (5~) = 718 (5~) - = - - = -
581H 759 |[E& A & 191-004 #0397 /T I1b0YT A4 LYY 108 A /FCB-A40RN 762 = 756 724 (5~) = 718 (5~) - = = - = =
5818 762 | [ FA & 196-160 |v9HA/E'=ik'y7° CPM-100H5/1.90193 191,200 = 179,900 - = - - = - - = -
581H 762 |5 FA & 732-348 |Iy9A/ Ny T40% BB100mm7 7")r—Y3vy—b 20-)b SL-S100AP 5688 = 5101 - = - - = - - = -
581H 762 | [ FA & 138-823 |¥9HA/E'=h'y7" 7 b&#hy Yy PM-100W/IL90174 128,663 = 114,900 - = - - = - - = -
581H 762 |5 FA & 732-348 |Iy9A/ Ny T40% BB100mm7 7")r—Y3vy—b 20-)L SL-S100AP 5688 = 5101 - = - - = - - = -
6818 762 | [ FA & 732-285 |IyJA/E'—#"y7" 100mmy—b £ 20-)L/SL-S111N)A 4480 = 4760 - = - - = - - = -
6818 762 |58 FA & 732-294 |RyYA/E=iky7° 100mmY—F B 20-)L/SL-S112N 4480 = 4,760 - = - - = - - = -
6818 762 | & & S 732-303 |¥9HYR/E'=iKy7° 100mmYy—Ft Fr 20-)L/SL-S113N 4480 = 4760 - = - - = - - = -
6H1H 762 | [E&H A & 732-312 |W9HA/E'=1k"y7" 100mmy—F & 20-)L/SL-S114N 4480 = 4,760 - = = - = = - = =
6818 762 | & & S 732-321 |¥9H9R/E'=iKy7° 100mmy—t & 20-)L/SL-S115N 4480 = 4760 - = - - = - - = -
6H1H 762 | [E&H A & 732-339 |¥9HR/E=1k"97"100mmy—F #k 20—)L/SL-S116N 4480 = 4,760 - = = - = = - = =
6818 762 | [E £ A &h 621-790 |¥yHYR/t'=#"y7 Ah7—Y—b FEBY SL-S110CN 2A—)L/IL90781 4480 = 4760 - = - - = - - = -
5A1H 762 | [E &R & 621-789 |¥yyA/E'—H"y7 Fh7—Y—b R SL-S154N 20-),/1L91187 5688 = 5143 - = - - = - - = -
581H 762 | [ESH AR S 631-027 |¥yYR/E=Ky7 14Uk vhEyhSL-R101T £/1L90540 4780 = 4572 - = - - = - - = -
5A1H 762 | [EEH A & 631-028 | ¥yHR/E'=K"y7 V9K vty hSL-R102T H/IL90541 4780 = 4572 - = - - = - - = -
581H 762 | [ESH AR S 631-029 | vyYR/E=Ky71v9)k vhEyhSL-R103T Fr/ILI0542 4780 = 4572 - = - - = - - = -
581H 762 | [EEH A & 631-030 |¥yYR/E'=HK"y7 V9K vhtybSL-R104T & /1L90543 4780 = 4572 - = - - = - - = -
581H 762 | [ESEAA S 631-031 | ¥yYR/E=Ky71v9)k vhEyhSL-R105T ##/1.90544 4780 = 4572 - = - - = - - = -
5A1H 762 | [EEH A & 631-032 |¥yYR/E=HK"y7 19K vhtybSL-R106T jFE#%/1L90545 4780 = 4572 - = - - = - - = -
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